Adda

e

DSSSB PRT
Subject Concerned

Previous Year Paper

14 Nov 2019 Shift 2
(Hindi)

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR4l7|

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— e —
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000 + Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW



https://applink.adda247.com/d/5zsmwiLHz7

Adda247

Test Center Name iON Digital Zone iDZ 2 Sector 62
Test Date 14/11/2019

Test Time 12:30 PM - 2:30 PM

Subject ASSISTANT TEACHER PRIMARY

Section : Mental Ability

Q.1 TF IgwH fa mar B, R @ v ug gw 31 Ry T e § A 95 we e gfvg, st
STHH B TR R
JR13, MO27, PL55, SI111, ?

Ans 1. VF221

2. VF223
3. WF223

4. UF223

Question ID : 99836742253

Q.2 , J 10 fop.f. RO A , 12 frdft 3w F 8 , JA
Té.?ﬁ%1§%l ﬁgT,ﬁgmﬁl?%gﬁﬁqg;ﬂé%gtﬁgeﬁﬁ%?ﬁgggge

Ans 1. 195 fob #1.
2. 205 fob.H.
3. V185 fob Hit
4. 235 fob. H.

Question ID : 99836742269

Q.3 TP ey faar mar 3, o @t ug ad 31 Ry e faweul ® & 39 wad ug # gl

17KT, 19PZ, 21UF, 29ZL, 31ER
Ans 1. 31ER

2. 21UF
3. 19PZ

4. 17KT

Question ID : 99836742254

Q.4 u® fafrg s HTUT &, ‘TRAINERS’ Y ‘WWDNQJUX’ foraT SiTdT 81 39 ®is Hiar &
‘GAMBLING’ &T H18 FT 82

Ans 1. JFPGONQL

2. KFPGONQL

3. LEPGONQL
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4. JEQGONQL
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Question ID : 99836742258

Q.5 13 AT U Uy ¥ $° FY 3R 3P q1¢ 34 HYAI W nutid $o e faw mu §1 faw
T HY1 B YT AF, T8 ITH ATH= 319 a) A Fisrar 811 3ah e ud ofw fier
Fruffea ¥ % e e 19 A FAeepd, R U F3= F snurR W gieria g1

foren:
.S N, R%ﬁ%l
L e, L

Ans 1. Haq BT |11 TR HRAT &
2. A B 1, 11 qT 111 SRR Rl §
3. ad st | STERT FRaT §
4. G FSB | T 11 SR R

Question ID : 99836742263

Q.6 fafafea vy # fo T el # & H@dta wsg g™ 31 9wl
Qd: fFam 2
Ans 1. RRIeR : 3
2. 9 : R
3. Thaedt : AoIgR
4. oy : Rifeds

Question ID : 99836742257

Q.7 fpam HHARY Hoigd 82

Ans 1.16

2.20
3.12

4.28

Question ID : 99836742267
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Q.8 U AT B 3R Whd HId §U, TP YoV A Hel “ag A a1 &) v Tt & Wig 3t it
27| 9% ufgar 39 7o | 59 yeR wafta 372

Ans 1. g3
2. Udl
3. 987
4.9

Question ID : 99836742259

Q.9 T+ BT 3 «x’, = BT S 7, 2 BT S = qUT %’ BT 3 4 7Y, A FPwff@a d A o=
1 GHIHI0T I T ®72

Ans 1.4x16+42—-21+14=22
2.13 x 16 + 43 — 39 + 78 = -57
3.13x19+2=16-4=43

4.46x11-23+69+11=68

Question ID : 99836742265

Q.10 TH SHRT H 3ATe AR &1 1 I TR Al /e &, R 2, 1 PSP FW R, 3,2 F
3l FHUR ¢ 9YUT 8 T U PR 2 316 @SS B1, B2, B3, B4, B5, B6, B7 d4T B8 § 33
Hfore uR 384 &1 37 A s WY Ju w@fera w1 ) Tgd1 21 B2 WH €= 9ol Hivd W)
Igd1 81 $ad B4, B1 9YT B5 & o1 A TgaT 21 B8 A 14 arelt HfSrel WX Y8121 B1, B5
% IR Tgd1 ¢ 1 B4 faus Hw@ arelt #iSTe wR Tgd1 21 B2, B3 9UT B6, B7 & 14 -Td) ¥gd
g1 B2, B6 & 31P SWR T84T &1 T B3 Ui=dl #ivTar WX g1 @ 4T feu TN IR e & 3
g@agﬁwmmm?,amﬁﬁﬁqmﬁmwﬁmm

A1 2?2

Ans 1. B3, B7
2. B5, B6
3.B1,B3

4.B8, B4

Question ID : 99836742261

Q11 (::) & TR 3R & TR Y Srepfaai Tl adb framRidy @ Wdfta 81 ol 1 e A &
(:2) & SRA 3R JH ab/FrauRiEY W TuTid g smpfd &1 g

Ans
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Question ID : 99836742270

Q.12 3T T =] FY IW HH H HafRud Y v 79 § § T A g B
1. SEALED
2. SEARCH

3. SEWAGE
4. SECURE

Ans 1.1,2,4,3
2.2,1,3,4
3.2,1,4,3

4.1234

Question ID : 99836742271

Q.13 3 AT U Uy ¥ $° FY 3R I7F q1g 34 HYA1 W Nuid $o frepd faw 7w § fay
T Y1 B T A, T8 ITH T 31 aa) F firsrar 81 gah e ug oiw fer
Rruifea ¥ i e e 19 A FAeepd, R 10 H3=1 F snurR w giemiTa g1

DY
. IS R, Pl T 21
II. B e, Hof A& 81

fApd:
. $ 13, PR &1
Il $© Ff, g T8 &
Ans 1. ST e | T 11 SFRRUT R §
2. el Frseh | 3RO BRa §
3. Had Y 1| SRR IR §

4. 7 e | qUT 11 TRV A T

Question ID : 99836742262

Q.14 gfg 24N 16 A4=12dUT14A18 N12=20Gl, A48 N16 A15="2
Ans 1.59

2.43
3. 51

4.47

Question ID : 99836742264

Q.15 gg MW gAY ot i Ry 1T avf & i & Fay F1 L FAeuur HRar gl

AU, 4, gt
Ans
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Question ID : 99836742266

Q.16 frafafad vy o fow 7 iyl & & Tdfta wsgt @) gfw|
W:'ﬁ?::m:?
Ans 1. geff

2. Pl
3. RAS
4. focsh

Question ID : 99836742256

Q17 9 fRETT 7T uy pfadl F FHR TS $I HSH Do adl Wad & 918 8 f5a

IR pia S fears 3m?
H .{"""" f...u.n.- ﬁ
Ans
1.
2,
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Question ID : 99836742272

Q.18 3 3w ¢ vy fIeul A, 2rarR g 3T T §1 (-) & Tl iR 2 1 1R (-) b gl 3iR
a0 T areR A el adh/fFramRidy @ Tafta 81 9 R0 ve abfaurisy ¥ snuR w
Tu 81 fiw e et # 9 faww «) gf

Ans 1.HR =Sl
2. KT -PG
3.NG - MT

4.LM -NO

Question ID : 99836742255

Q.19 IO uf¥w F} 3R 19 f5. . Terar 1 a8 rft 3R gear 8 aur 33 5. gaar 81 s ag
Ef&ror fa=m Y 3R =T @ auT 14 5.+, werar 31 3r@ T AT SR gSAT § AT 13 AL
TADR fdg J IR UgTar 81 98 T 9Tl SR ear § auT 2 {1, gerar 1 9% siaa: arft ok
g@;ﬂ;gﬁiﬁ.m%l I8 IR fig & ora fparit g & aut fig v, sifew faig @

?

Ans 1. 27 T 1., <féror ufzm
2. 21 T At & uigm
3.21 & A, I ufzm
4. 23f% R, SR

Question ID : 99836742268

Q.20 318 AR A, B, C, D, E, F, G 94T H $x B 3R T I TP JuTHR A9 & 56 - filg 83
gUEI C, Ad orfl 3R FTR1 21 F, ¢ & fAudia ST 81 H, C 7T G F1 FApeaw ueKA 21 D,
E % ol 3R SRRT21 afe A, G & gid ardi 3R B, Y H & faudid »i9 de1 22

Ans 1.A
2.D
3.C

4.B

Question ID : 99836742260

Section : General Awareness
Q1 wiwr afgar fay oa 2019 fra =9 fiare
Ans 1. 4T
2. g
3. SffHT
4. SToitd

Question ID : 99836742292
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Q.2 g AW & WY /A, HRAT T A «<ifgur & G=ie= 1 wpar IUR R ar?
Ans 1. a@ﬁqﬁn

2. S

3. Gf&r arpie

4.gTEN

Question ID : 99836742289

Q.3 yewdl F SHfHAEl | GUr $i 99l 8, TP o |t 4t
Ans 1. SIEOT YAt (ST & Aferap)

2. o GUgh
3. AURY

4. fqurgt

Question ID : 99836742284

Q4 fEfafad 3 A fea vaa & e ariie amel 1 Sfeme afifs grT b e YgRfea
UTSH (Y. 3R, .y P Gion & S 82

Ans 1. @IW®T
2.7
3. AL
4. d1qd]

Question ID : 99836742275

Q.5 HERNYS THIS B RITYT At g
Ans 1. 41 AR =

2. griteg
3. 31 ). 3R, 3FTTH
4. SfRTE pol

Question ID : 99836742283

Q.6 A¥TE® ot H T AT
Ans 1.:ﬁ'§\

2. f& & S

3. gHdl

4. CHIX

Question ID : 99836742277

Q7 39 ® fFre PR 7 W A4 AISHA F A B TP TS ARINT 7 T3+ fmam 12
Ans 1. i ArgE et WHR

2. I AP SIS TRBR
3. TR BR
4. faemue Ueet WHR
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Question ID : 99836742285

Q.8 WS gRT AP T ® R &1 B9 Fa1 32
Ans 1. 100 FRIS TT

2. 5000 FIS FYY
3. 500 HRIS FUY
4. 1000 TS T

Question ID : 99836742276

Q.9 HE g AfAFARIT 2019 A ATSFT P 9o S 3 fHa sidi?
Ans 1. S TS

2. fgr¢fea
3. WIHA $1
4. fofcig g

Question ID : 99836742291

Q.10 3rgré RRA-P1-3iusT A fRE e

Ans 1. ISR

2. A U™

3. TERTY
4. IR U

Question ID : 99836742274

Q.1 MEeider & Yoy ¥ Fufafea d | $i9 a1 $y= 98l 872
1. 3 Fgursfeafia, Bkt vd dg7er ged sig 2|

II. WSPTS¢y Sigail # Aicieis gar 8 ol UMl Bt Je=t &1 I UgE $edl 2 o
T § ST B R

Ans 1. %ad |
2. %ad i
3.AdSRAGN
4. 13T 11 g

Question ID : 99836742279

Q.12 2019 ¥ Aradia F gRT A= ARt &) gmfa $3 ¥ i gdfs R R
e &1 AT | fpR wwfa fvar mar?

Ans 1. SIREEA
2. g wdt
3. 2t fomfeT
4. 77 1Y Hifdg

Question ID : 99836742287
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QI3 dEear A HAEI W@ gl
Ans 1. foreiRe

2. AUy

3. ARTAE

4. AOTGR

Question ID : 99836742273

Q.14 g7 & gt & T & H-T1 HU= e 72

Ans 1. forg} fo STTae URTEl & aTdTaRYl & SR 5d Wt § St o FAfHd gt g1
2. 3 U & fHARI B Rt au1 Me-1{ gt § 91 S gam! § GHGR gt 8
3. 3 gt ueTt qut uddia &t ® TS St ], ST vai auf aral 97 Suas g

4. ferrea & ot Qg & B, A g} FRaR0r &7 SrgHa Bt § TuT g RO O & |y
&R Bl 31

Question ID : 99836742282

Q.15 3iifEn & HRIYge Rid & vaarenTeh WeR Fu # A frw @fe ¥ i ulrs §2
Ans 1. &

2. TreT=r
3. giq98e
4. @

Question ID : 99836742280

Q.16 I1gufa 1 frafad te frafed vea & gewl gri fear o Fred __ sif@ @ @)
1. §¥E & g1 Wedl & fratad wew|
I1. 317 faurRryT & fraifra wewi
111 FE=Rd we=i et 7 ygad Rumunsi & faffra e

V. TG & 1 wet T Hew|
Ans 1.1, 11, 11 TV
2,11, 11TV
3.0, 1TV

4.1 11ddr il

Question ID : 99836742290

Q.17 A1g AfSeTw g e & aws I §2
Ans 1. 3yfa Mg

2. TR YRR
3. AT HWT {TSaruft
4. 3y Burdl

Question ID : 99836742286
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Q.18 W § Aegy aty Frafufaa Ffea & & e 7 w g mr 32
Ans 1. e 74l

2. MeTast et

3. o A
4. FIRY TH

Question ID : 99836742281

Q.19 2019 F AIPHSH HeTHIIG BT Taurd Rrgeif F Ry e T H AN arat g7 F9d
IUHRVT faHRIa H & fore @ 3t 9ot & waa o R @ Pt e
fFarmar g1

Ans 1. fAfem et

2. Hanareg R
3. I &

4. 7% R WiffTS

Question ID : 99836742288

Q.20 gmwmﬁﬁwmwﬁmmmﬁ&m%ﬁﬁaﬁm
T T B

Ans 1.DC
2. 9@ AC IRTE DC

3. AC 9UT DC gt

4. AC

Question ID : 99836742278

Section : Arithmetic Ability

Q.1 84,000 TUA PV TS MR P! P, Q 9UYT R & 4 HHI: 2: 5: 7 $ =urd # fyunfora farar
T 21 Ife 398 | U ) 100 TYT HH Hed §, O U Q TUT R GIRT UTWd BT TS 01
BT U T FRI?

Ans 1.299: 419
2.299: 479
3.279:419

4.229:299

Question ID : 99836742303

Q.2 30 + 10V5 HT Y-ITHS T YA FT T T 8?2
Ans 1.4+ 275

2.6+15
3.2V5+3

4.5++5

Question ID : 99836742294
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Q3
Ans 1.216 9.1
2. 864 9.
3. 108 Q..
4.432 91
Question ID : 99836742308
Q.4
Ans 1. 13000
2. 11000
3. 10000
4. 16000

Question ID : 99836742310

Q.5 TS Y Thglg e R (@i ThieH W) 4 a9 & Wd T [ 8 i qua R |
Thgfs e TR (@ T R) a8 IR frax aut & W@ &Y 9 17 81 wreEhe

Ans 1.16
2.10
3.8

4.12

Question ID : 99836742304

Q.6 fHfafad # A H9 91 I TS182
1. 3/8
II. 5/7

lll. 19/25
IV. 16/21

Ans 1.16/21
2.3/8
3.5/7

4.19/25

Question ID : 99836742296

Q7
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Ans 1. 200
2.34
3.30

4.25

Question ID : 99836742297

Q.8 I UST X TUTY 3PA TP &b B! HHY: 105 AT TUT 140 T § R APa &1 UST Z 4
T/ $t R A TTell $R Jbdl 81 Tl IS X, Y 94T Z P U WY Wl Siral @ ad1 3
T @Tell <P &) 84 e & YR 8, Y & &1 &rAdT T 872

Ans 1. 840 T
2. 420 @A
3. 720 @A
4. 360 A

Question ID : 99836742307

Q.9 3/4, 5/6 TUT 6/7 BT HEH THUAdP T &2
Ans 1.1/84

2.3/82
3.1/14

4.1/42

Question ID : 99836742293

Q.10 AT 30% = K PT150%| AT K 72 8, A A & 15% T A T 872
Ans 1. 24

2.18
3.22

4.16

Question ID : 99836742299

Q.11 g Yermeat 30 .. der aur 110 .M. et $t 7fy & Tar R A T @ & et
TAISTS HHTT: 450 HISR TUT 350 HIeR g1 a1 Tfa arelt Yarms! fift nifq arelt Yemst & uR
3 ¥ e awg aft?

Ans 1. 38 YHTS
2. 36 YHUS
3.32 4TS
4. 34 YHUS

Question ID : 99836742305
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Q.12 T& YerTS! TF PR | 10% oo gadt ¢ 1 &) f9g A ¥ TP &1 97T TR URH T § 94T 140
.. gz [Rya fig B I var &t 99 W ugad § 1 anf & Yamst RxEl ® Fa4 & fg 10
fire <t 21 Yo Ft nfa | 82

Ans 1. 50 & seiet

2. 84 fo #t reier
3. 72 fo. 4t e
4. 74 T R reier

Question ID : 99836742306

Q.13 T FHl F1 3ifrd Teu a1 fasHa goa FH: 1130 TUY AT 508.5 FUA 71 §F I W ot
Tt Fe B i 51 39 Hf F g gew F m 3T 82

Ans 1.1343:1017
2.1243 : 1027
3.1343:1027

4.1243 :1017

Question ID : 99836742298

Q.14

Ans 1.270
2. 260
3. 250

4. 240

Question ID : 99836742311

Q.15

Ans 1.8

Question ID : 99836742295

Q.16 WITS HT Yoo 40% A T a1 a1 81 39 $H & $RUI, TP i A 480 $UA # 8 f.3m.
o Sifafvaa @ite ford | st &1 74T auT SR Ieu 71 € (39 H)?
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Ans 1.24, 40
2.30, 50
3.40.8, 68
4.26,43.33
Question ID : 99836742300
Q.17

Ans 1. 203.33 Yfcrrd
2. 143.33 gfa=rd
3. 183.33 Ufa=rd
4. 163.33 Yfcrrd

Question ID : 99836742312

Q.18 TR I TH HUT A YA & $U | TP 94 & 1w 1800 U IUT TP WiaTga B e
PT aTeT fFaT 1 Y| $B FRUN $1 aoig A 8 WA UYTd ST S BIS &t 94T 3/ 1100
FUA TYT THH TS d B & U H YaE [Aar afe 9 39 Aiesa B9 &1 3 i &)
65% & ATH TR A9l 3, dt I & oY 39 Aiaga B &1 faswa gea a1 gk (3ud #)?

Ans 1.615
2. 495
3.525

4.485

Question ID : 99836742301

Q.19 T® ga Ft Bwar 21 .M. 31 39 390 B IR v JHiaR Y F uRUT F R 71 PQ
= 36 .. TUT PQ 3R SR AT gt 20 V.. B1 PS TUTQR F Fia FI g w72

Ans 1.36 9.1,
2.329.H.
3.24 9,
4.30 4.

Question ID : 99836742309

Q.20 e fArgor & et 9UT @ 7 : 5 F UTd | 21 afe I7H 14 ex 5o Mrarar wg, @ sna
TYUT o DT 3JUTd 4 : 3 T e g1 Fsyor F 3t 51w Fan 82

Ans 1. 306 e
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2. 236 TR
3. 416 ®IcR
4. 392 T’

Question ID : 99836742302

Section : General English

Q.1 In the given question, four words are given out of which one word is incorrectly spelit.
Choose the incorrectly spelt word.

Ans 1. Government
2. Disscuss
3. Accompany

4. Civilised

Question ID : 99836742324

Q.2 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

She lost patience her friend.
Ans 1. at

2. from
3. with

4.t0

Question ID : 99836742318

Q.3 Choose the word that can substitute the given sentence.

A person hired for driving a car.

Ans 1. Posse
2. Shoal
3. Chauffeur

4. Horde

Question ID : 99836742327

Q.4 Rearrange the parts of the sentence in correct order.
P: She taught
Q: twice a week

R: and geometry
S: me algebra

Ans 1. PSRQ
2. SRQP
3. PQRS

4. QRSP

Question ID : 99836742319
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Q.5 Choose the word that means the same as the given word.

Hypocrisy
Ans 1. Meek

2. Sincerity
3. Timid

4. Deception

Question ID : 99836742322

Q.6 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

The boy the ball out of the room.

Ans 1. kicking
2. kicked
3. is kicked

4. kick

Question ID : 99836742317

Q.7 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

Clear cut

Ans 1. Inexperienced
2. A story which is not true
3. Definite

4. Incidentally

Question ID : 99836742326

Q.8 Rearrange the parts of the sentence in correct order.
P: the real culprit
Q: many clues

R: pointing at
S: there are

Ans 1. PQRS
2. PSRQ
3. SQRP

4. SRQP

Question ID : 99836742320

Q.9 Improve the bracketed part of the sentence. If there is No improvement, choose No
improvement.

The lady (find) a broken wooden chair.

Ans 1. found
2. No improvement

3. is find
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Question ID : 99836742316

Q.10 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

A dime a dozen

Ans 1. To eat
2. Speedily
3. Straight talks

4. Anything that is common and easy to get

Question ID : 99836742325

Q.11 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

Raj has hurt (1)/ his ankle and will (2)/ not be able for play today (3)/ No error (4)

Ans 1. his ankle and will
2. No error
3. Raj has hurt

4. not be able for play today

Question ID : 99836742314

Q.12 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans 1. Immediately
2. Imediatly
3. Immediatly

4. Immediataly

Question ID : 99836742323

Q.13 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

Find himself (1)/ in difficulty, he (2)/ went to his parents for help (3)/ No error (4)
Ans 1. Find himself

2. No error
3. went to his parents for help

4. in difficulty, he

Question ID : 99836742313

Q.14 Choose the word that is opposite in meaning to the given word.

Calm

Ans 1. Strengthen

2. Exclude
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3. Stormy

4. Obvious
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Question ID : 99836742321

Q.15 Improve the bracketed part of the sentence. If there is No improvement, choose No
improvement.

The man gave her a (hundred-rupee) note.

Ans 1. No improvement
2. hundred-rupees
3. hundreds-rupees

4. hundreds-rupee

Question ID : 99836742315

Comprehension:
Read the following information carefully and answer the given questions.

Climate change and its imperatives across the globe have moved beyond the immediate
compulsions of rising mercury levels on planet Earth. It is today a debate among nations on
geo-politics and the shift in economic balance from the developed countries to the emerging
economies. The rhetoric by global leaders thus needs to be taken with a pinch of salt for it is
not all about climate change concerns. The changing axis of economic power to the East and
emerging countries of Asia will perhaps take a while to sink in. Developing economies like
India are just beginning to take baby steps on the global stage and industry entrepreneurship
will have to go a long way. Millions of house-holds in India still have to depend on firewood
and kerosene to light up their homes even as scores of Indians die every year for want of
basic health amenities.

The priority for such a nation is meeting basic needs, providing food, health and education
rather than spending large portions of its GDP on importing technologies to cut emissions,
scientists argue. India needs to do its bit, but on its own terms and at its own pace.

SubQuestion No : 16

Q.16 Which word from the passage is similar in meaning to onset?

Ans 1. Importing
2. Priority
3. Beginning

4. Amenities

Question ID : 99836742333

Comprehension:

Read the following information carefully and answer the given questions.

Climate change and its imperatives across the globe have moved beyond the immediate
compulsions of rising mercury levels on planet Earth. It is today a debate among nations on
geo-politics and the shift in economic balance from the developed countries to the emerging
economies. The rhetoric by global leaders thus needs to be taken with a pinch of salt for it is
not all about climate change concerns. The changing axis of economic power to the East and
emerging countries of Asia will perhaps take a while to sink in. Developing economies like
India are just beginning to take baby steps on the global stage and industry entrepreneurship
will have to go a long way. Millions of house-holds in India still have to depend on firewood
and kerosene to light up their homes even as scores of Indians die every year for want of
basic health amenities.

The priority for such a nation is meeting basic needs, providing food, health and education
rather than spending large portions of its GDP on importing technologies to cut emissions,
scientists argue. India needs to do its bit, but on its own terms and at its own pace.

SubQuestion No : 17
Q.17 Which word means the opposite of emerging?
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Ans 1. Fading
2. Appear
3. Develop

4. Arrive

Question ID : 99836742332

Comprehension:

Read the following information carefully and answer the given questions.

Climate change and its imperatives across the globe have moved beyond the immediate
compulsions of rising mercury levels on planet Earth. It is today a debate among nations on
geo-politics and the shift in economic balance from the developed countries to the emerging
economies. The rhetoric by global leaders thus needs to be taken with a pinch of salt for it is
not all about climate change concerns. The changing axis of economic power to the East and
emerging countries of Asia will perhaps take a while to sink in. Developing economies like
India are just beginning to take baby steps on the global stage and industry entrepreneurship
will have to go a long way. Millions of house-holds in India still have to depend on firewood
and kerosene to light up their homes even as scores of Indians die every year for want of
basic health amenities.

The priority for such a nation is meeting basic needs, providing food, health and education
rather than spending large portions of its GDP on importing technologies to cut emissions,
scientists argue. India needs to do its bit, but on its own terms and at its own pace.

SubQuestion No : 18

Q.18 Which of the following statements is true?

Ans 1. Kerosene and wood are the main fuels used in India.
2. The priority for such a nation is to earn more money.
3. The global leaders are the main stakeholders in climate change talks.

4. The global leaders are the main stakeholders in global change.

Question ID : 99836742329

Comprehension:
Read the following information carefully and answer the given questions.

Climate change and its imperatives across the globe have moved beyond the immediate
compulsions of rising mercury levels on planet Earth. It is today a debate among nations on
geo-politics and the shift in economic balance from the developed countries to the emerging
economies. The rhetoric by global leaders thus needs to be taken with a pinch of salt for it is
not all about climate change concerns. The changing axis of economic power to the East and
emerging countries of Asia will perhaps take a while to sink in. Developing economies like
India are just beginning to take baby steps on the global stage and industry entrepreneurship
will have to go a long way. Millions of house-holds in India still have to depend on firewood
and kerosene to light up their homes even as scores of Indians die every year for want of
basic health amenities.

The priority for such a nation is meeting basic needs, providing food, health and education
rather than spending large portions of its GDP on importing technologies to cut emissions,
scientists argue. India needs to do its bit, but on its own terms and at its own pace.

SubQuestion No : 19

Q.19 Why does the author want the talks about climate change by the global leaders "to be
taken with a pinch of salt"?

Ans 1. The global leaders are not responsible for the climate change.
2. The talks are sometimes directed towards political and economic gains rather than
climate change.

3. The talks about the climate change by the global leaders have little to do with
developing countries.

4. The developed countries are more concerned with exporting their technologies that
cut emissions.
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Question ID : 99836742330
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Comprehension:
Read the following information carefully and answer the given questions.

Climate change and its imperatives across the globe have moved beyond the immediate
compulsions of rising mercury levels on planet Earth. It is today a debate among nations on
geo-politics and the shift in economic balance from the developed countries to the emerging
economies. The rhetoric by global leaders thus needs to be taken with a pinch of salt for it is
not all about climate change concerns. The changing axis of economic power to the East and
emerging countries of Asia will perhaps take a while to sink in. Developing economies like
India are just beginning to take baby steps on the global stage and industry entrepreneurship
will have to go a long way. Millions of house-holds in India still have to depend on firewood
and kerosene to light up their homes even as scores of Indians die every year for want of
basic health amenities.

The priority for such a nation is meeting basic needs, providing food, health and education
rather than spending large portions of its GDP on importing technologies to cut emissions,
scientists argue. India needs to do its bit, but on its own terms and at its own pace.

SubQuestion No : 20
Q.20 What should be the stand of India on matters of climate change?

Ans 1. India should reject any demand for emission cut by the developed countries
2. Measures should be taken to cut down emissions
3. The matter of climate change should be ignored

4. Measures should be taken to cut down emissions but not at the cost of development

Question ID : 99836742331

Section : General Hindi

Q.1 f3u 7T IRl § | R aTRI [ BIfog |
Ans 1. 97 ATl § freT 918 d § d gR TR Ufdal &3

2. 31T ~droit ¥ fieq & fore gR W ufden o3
3. 31T AT off ¥ e =red § 3ufeie gR W ufder &
4. Aot & fire 9Ted  fohg 98 gR W Ufden &3

Question ID : 99836742343

Q.2 foE T reg T wataard Jd FIRCI

faw
Ans 1.71d

2.3
3. TRd

4. 7T

Question ID : 99836742337

Q.3 3w e R e § & sreafiRm g wa Sk

Ans 1.:
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Question ID : 99836742348

Q4 g wiF A Ifra geray &1 o wra S
Tl & i R P @R AP ag @
Ans 1. He-He BRI
2. HegTa g
3. Gl A FHEA
4. O5¢ B AT

Question ID : 99836742347

Q.5 3T 7T 1 &1 fadiiv FTd BIfvTI

It
Ans 1.9
2. 3fTart
3. 3P

4.3YR

Question ID : 99836742338

Q.6 f3u Y a1 & 6w YHR &1 7Y @ 91 P
§8 18X BT I feamait
Ans 1. 810
2,390
3. UYH
4. 9y

Question ID : 99836742341

Q.7 fg M T o1 Iuw @ P

R
Ans 1.7

2.0e
3.4
4.4R

Question ID : 99836742335

Q.8 faT T IR H1 HTA FId P
TR R @1 %6 o
Ans 1. Ul Ya&rd
2. 3T AT
3. 3l Yd&Td
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4. Ty YdobTe

Question ID : 99836742342

Q9 RT T A=) & A Y adf+ Fia B
Ans 1. St

2. HiafRE
3. Hig
4. SHarE

Question ID : 99836742339

Q.10 3T TN 19 W IUGeH Weg BT TG BT
AEHEBI 4@
Ans 1. 3R
2. fg
3. 3R

4. 3HYdl

Question ID : 99836742340

Q.11 3T e g # 3 wITH W favm g 31d S|

F=I A 3 T Fiud dUT 3rfReg P U8 T
Ans 1.1:1

Question ID : 99836742345

Q.12 3 TTT gera’ &1 3 J1a Bifvrg|
G-l
Ans 1. T g
2. yfid g
3. HaNg UaT H
4. YA B

Question ID : 99836742346

Q.13 3T 77T Treg @1 TIY FTd FPHCI
Iq + Al
Ans 1. 3Afd
2. 3f
3.3dM
4. 3dfd
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Question ID : 99836742334

Q.14 f3E U rea A | YRAT Weg F1d PITWI
Ans 1. hedgc

2. A8

3. FdH

4. HIA

Question ID : 99836742344

Q.15 3y 7Y IR | uRumHaTaS fa=eor Ja S|
I A TS H g AeR gU aH B FETI
Ans 1,39
2.39
3. @M
4. F R

Question ID : 99836742336

Comprehension:

TR ST YD UG a1 TS UY & IR fabedl § ¥ Tg1 faded g |

e H U &1 9gd Hed & | WRal H $e1 T | 1% ued &1 Ant enf o1 0nt gran 1 "etiRa &
g ¥ uiedl @ ot g9 g% N T & T 1 Anf 3o @ A1 T B AR b 4 b1 Al bl
SITAT 8 | U1 g7 S § o6 i < gury e gucht- IR, S5 SR T | 57 A G BT, <A
BT UL A & S! U1 T+ TN R § | I BT 1Y S arell bl gfeT Wiy uE o ot
HRAT 8| TG S AT S, 3T BT Y A & S IRI 3R M= il 81 T &1 Heg<id ad gt
? O I Bl Sffa B 04, a9, BH 3 WIHR fbar S 99T wanT far o | [ ot Afga &1
FEH AT, T & favg T U SHT o1 TR 8, Siia & T BT 3R ST ST 8l HidA
81 T BT MR B Tl ST € IS Siia § UisT vd T U 61l § | T &
JTERUT & TR W & §H Th-guR IR fay o & 1 TRER faym o1 Ha R £ gyl 9o ot
T ol g8 B | I U &1 Gad TSt Ve 81 T TR B Tebell § Afdp IRIFTd e gl
THAT| BUR =1 H ol gREE= S Garel gu 8, fome! firara et ae < ot 81 Seard
o BReE I P AN R Ta 1 Ui 1 ot 3R 3HToiia= ST UTe a1 ST BBl o, -
T X, GROT X, X ST Ugel! Ul - g | g Ufad — v — X, RO &R, X — SHI TER,
Y eRes A R T 9 faaR|

SubQuestion No : 16
Q.16 o BT SMTEUT HI AT ATRT ATHITSTD Sitd | T UTe Bl 22
Ans 1. fayrg wd STy

2. UfagT ud g™H
3. 3Tl U9 3
4. 3FER T4 31

Question ID : 99836742353

Comprehension:

TR & YA Ue aul Udd Uy & IR fawedl o S ¥l fadwen |

Sia ¥ U o1 9gd Hed 7 | WRal H $g1 T | 1% T &1 Ant e o1 0nt gian 1 HetiRa &
I § uisdl $1 ol 4R g< o it d G b1 A 3o @ A1 G & Al b o b1 ARl bt
ST 8 1 U g S § 3 i S guT T gucht- IR, S5 SR T | S 6T el T, <A
BT U T & ST TR Wit AT R &1 e BT WY 7 Tl B 3w Wi uH W get
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FRA1 8| TG S AT S, 3 BT Y A & S IRI 3R STaraT gl §1 T &1 Heg<id ad ot
B O I Bl Sfta B T, a9, B 3 WHR fbar S a3t vaiT far 9’| ae &t afgar &1
TG HAT, T P faw & JuGRT &1 T IR 7, Sfa & U &1 STeR0T HIAT 31 81 B
B T BT TR A AT A &1 [T Sia H UfdST T T U T & | I P
JTERUT & TR TR & §H Uh-guR TR fayi oxd § | IRER fayr 1 g 1R gt awgl 9ars &t
T el g8 81 I TG &1 Tad 98t Vo 81 T TR 1 bl § AfdpT URIFId et gl
FHAT| TAR G H 0 o7 R oY e g 8, fore! e et da & St 71 et
o1 gRYSE ¥ I & AN IR A= &t o ot off SR siroftas 3weT e fasan| 39T g o, -
T Y, GROT X, X T Ul Ul - g | g Ui — av — X, RO R, X — ST TTER,
Y eg eRy=s &l R T I faaR|

SubQuestion No : 17
Q.17 ¥ & AR B SIH-I1 AR HgT Il 22
Ans 1. ¢ BT AR

2. 3fTereT &1 ATf
3. 3T BT AR

4. U= &7 ATf

Question ID : 99836742352

Comprehension:

TR &1 AHYd® Ue aul U Uy & IR fawedl & 9 el fadwey g

Sita o 9 &1 9gd Hedd o | Wdl § el T § o U &1 A1 4 &I AN gidl & | HeTHRA &
g5 § uisal 1 oitd g4 g8 oft iy & Gy b1 A S1uA 3@ A1 H &b A1l b ud &1 A1 bl
ST 8 | U1 T S § o i < guTe 8 guch- TR, IEHT IR T | St AT I T, A
BT T A & 71 U= Gt AT BRal &1 T BT 1Y S dTll bl 3T WO UH WR gst
FAT ¢ | TG N AN S, S BT 1Y 3l § ITd! ART 3R ST 8l 81 T 71 Hgad adl g
? 9 I DY Sfia= § 74, g2, HH O WBR fobar S auT vaT fear Sl | 9 &t JfgqT &1
S BT, Tell & FIva & U 1 Rl TR 2, G B Tl T SHTeRY] AT I & BT
21 A BT AR B T AR € A S F URIS1 Td GH U1 el 1 T
SITERUT & SYR TR B §H ThH-gik R Iy axd & | IRER fayr &t ia iR gt gegof v ot
T et g3 1 9o AFId ) qad 9] S 81 Y W 81 Wbl § Afdp-T URIIoId -Tal &1
THAT| AR G H 0 o7 R oY IIa g 8, oot et et da &t et 71 Iegardt
I %S A I & AN WR T o1 ufawn o1 ot 3R irolias ST ure 6T 39T Hg o, -
TE R, T R, X T Ugat Ufekd - AagR | g dferd — o — %, YR €X, X — ST AdER,
Y eg eRes A R T 97 faaR|

SubQuestion No : 18
Q.18 e TTeliw HT UG XMu® T gHM2
Ans 1. BicATS BT ARt

2. 3BT BT AR

3. 9 BT AN

4. 3T BT ANS

Question ID : 99836742354

Comprehension:

TR & YA Ue aul s Uy & IR fawedl o 9 ¥l faswen g

Sffa & U &1 9gd Hewd ¢ | Xl B HgT T § o5 I o1 Ant o 7 91l g1 81 HeTHRd &
g ® uigdl @1 oiid 3uad gs 2 Fifdh 9 T &1 AN 3O 3B U1 9 & A1l &1 4 &1 a1l gl
ST 81 U1 g S § o ofiF A gume et guch- IR, 95 SR 9| S T 9 &6, <Y
mwéﬁ%mmmﬁeﬁnm%lwwmu%ﬁamﬁﬁgﬁmwﬁhuﬁmaﬁ
FRAT 8| TG SN AT S, 3 BT 1Y <A & 3! IRI 3R a1 il 8| 9 &1 Hg<id ad ol
B O I B! Sfia & 7, g9, HH I WHR g S quT ganT a1 S| 9 St Afgd o
FEH AT, T & favg & IuSRT ST fora1 TRa 8, Sfia & T &1 3TeR0r 31 31 81 HidA
B T T SR B aTel Afad &t JraTores Siia & UfasT T T U $3al § | I &
3TERUT & YR TR & §H Th-gi W 34 I &1 TRER fayrg &t g R € gyl T o1
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T fept g3 B 1 9T AFId & 9o §a1 UG 81 I W 81 [T § Afdp URIfoId -Tg! &1
FehdT | BHR <=1 H dl ol gREES o IdTd gU 8, et forra ot de < <1t § 1 Seard!
o 8ReE A I & AN R T o1 U o1 ot 3R SHTolias ST uTe 6T ST HeT o, -
T X, GROT ), X A Ugell Ul - g | g Ufad — I — X, qR R, X — ORI HER,
T T¢ gRy= & X 7 I faumR|

SubQuestion No : 19
Q.19 37e it P-H fagH & Iard! & A1 A ST ST 82
Ans 1. DI

2. SRR JdIG
3. ufsal
4. BRY=

Question ID : 99836742351

Comprehension:

TR & YD Ue aul s Uy & IR fdwedl o 9 ¥l fadwey g

Sffa & U &1 9gd Hewd ¢ | Xl B Hg T § o5 I o1 Ant o 7 A1l g1 81 HeTHRd &
g B uisal o oitd s4fere gs 2t Fifes 3 I &1 Ant 31 38 1| I & AWt 1 onf &1 Anf et
ST 8 | U1 T S © o i S uTe e gucht- IR, IEAT IR T | S AT U BT, AR
BT A & I! =T Tt AT IR &1 T BT T 37 Tl b 3fer Wi ow W g
HRAT 8| TG S AT S, 3T BT Y A & 30! IRI 3R SMTeir=1 il § | T &1 Hg<id ad ot
? O I B! Sfia & 7, 79, HH I WHR fobar S quT s far S| 9 &t Afgd &
FEH A1, T & Avg T IUSRT AT fora1 TR 8, Siia & & BT 3R HAT 31 81 HioA
B T T SR HRA aTel G St JrATores Siia o ST T T Uit $3al & | I &
STERUT & TR WR & §H Th-guR TR Ay axd § | IRER faym 1 =g R gt 9wyl 9a &t
T et g3 § | I HIFd &) qad 981 Ve B 1 T URRIH B Thell § Wfeh TRIfSId el 8
FHAT| TAR 2 H 0 o7 e o Iard §U 8, fome! firme oret de & St 71 Iegardt
o g% 3 I & 11l W T &Y vl &1 ot SR 3irsias 3T urer fhaT| 3T FeT T, -
TE R, T R, X T Tgat Ufed - agR | g Uferd — T — %, YR €¥, X — SHTd AdER,
U Tg gRy= & X 7 I famR|

SubQuestion No : 20
Q20 Sfte & ®  arf &1 9gd Tewa 82

Ans 1. 998
2. TR

3. 3y

4. 99

Question ID : 99836742350

Q.1 Which of the following is/are guideline(s) to enhance questioning skills among
children in classroom?

l. Provide good halting times

Il. Develop sensitive listening techniques
lll. Develop silent time

Ans 1. Both l and II
2. Both Il and 1lI
3.1, 1and Il

4. Both I and lll
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Question ID : 99836742362

Q.2 Which of the following devices can be used for improving the power of thinking?

I. Models of teaching

Il. Remedial teaching and instruction
lll. Curriculum development

IV. Evaluation and diagnosis

Ans 1.1, land IV
2.1, lland Ill
3.1, 11, Il and IV
411, and IV

Question ID : 99836742358

Q.3 Which of the following is NOT one of the major stages of development in children?

Ans 1. Later childhood
2. Infancy
3. Adult

4. Adolescence

Question ID : 99836742360

Q4 9 gE F ogER, e gRT e & R P d orf fPy o {2
1. HEpfa BT HaROT

1. ST YT fAuHdT &) S8 BT
. T faeferdr 9yt IrETfere aRad=

Ans 1.1, 0ayrn
2. 13
3. 1A

4. 11adr

Question ID : 99836742366

Q.5 Which of the following is/are internal factor(s) on the growth and development of
children?

|. Emotional factors

Il. Intelligence

lll. Heredity factors

IV. Biological and constitutional factors

Ans

1. L1 llland IV
2.1, lland IV
3.1, llland IV
4.1, 1land l

Question ID : 99836742364

Q.6 Which of the following type of Passi Test for creativity has 4 questions and students
are asked to write the defects and problems of a past card, chapel and the like?

Ans 1. Seeing problems uses test
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2. Persistency test
3. Unusual uses test

4. Inquisitiveness test

Question ID : 99836742357

Q.7 Which of the following is NOT true about duties of local authority according to Right to
Education Act, 2009?

l. Provide school building, teaching staff and learning material
Il. Decide the academic calendar

Ans 1. Neither I nor 1|
2.Only
3. Only |

4. Both land Il

Question ID : 99836742370

Q.8 fmfifeaa & #19 w1 3Ra yeR #Y Rien & T ¥ ad 22
Ans 1. T8 S &) T 0T B a8

2. 51 98 § 341 7RE I8 I F IHI g
3. U8 U fouiy fafyr wr amenfya g1
4. U8 9= &) fafts UeR! & aifferd dar g1

Question ID : 99836742374

Q.9 Which of the following is NOT a type of learning?

Ans 1. Discrimination
2. Cognitive
3. Effective

4. Psychomotor

Question ID : 99836742371

Q.10 fgfrfEd & A f5a yoR & Uy & e oE 3 fEeE" w31 3R 741 WU 37
SATIGHT Bt &, o TaraR) 71 =31 U gid1 82

Ans 1. TIAIST BT A o arel ward
2. ¢ Rl &1 Wierd Hard
3. 39 gU Jard
4. Hiaw &) GH] 8 B dT UH

Question ID : 99836742361

Q.11 corresponds to the education process normally adopted by schools and
universities.

Ans 1. Formal education
2. Informal education

3. Non-formal education
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Question ID : 99836742367

Q.12 Which of the following can be a way for including community in the education
process?

I. Parent meetings at school.
Il. Involvement through the contribution of money, material and labour.

Ans 1. Neither | nor I
2. Both land Il
3. Only I

4. Only |

Question ID : 99836742368

Q.13 According to
society.

Ans 1. Talcott Parsons

2. T.B. Bottomore
3. Emile Durkhiem

4. Karl Marx

, polity is mainly concern with division of power and authority in

Question ID : 99836742373

Q.14 BT | Tadt Han & g Rt 1 wen & Ry Fufafey § 4 o o w5 82

1. 7% Tefi s=t & fore &9 @ 30 v R |
I1. afe wa=T 100 | FHW 7, A GBI R1erd $t sraxgddr gl

1. 1T 11 AT
2.9 RAEN
3. %ad |

4. Fad Il

Ans

Question ID : 99836742369

Q.15 fmfafad # 9 #1991 7= § Hif® AT T U6 UPR 81 82
1. PET-al BT Jo BT

2. Gid Bt T HAT

3. T
4. TSI T ITANT BT

Ans

Question ID : 99836742355

Q.16 Which of the following instructional material to foster creativity is used in which
children are given impossible situations and are asked when such a thing happens
what would be the consequences?

Ans 1. Consequences situation

2. Consequences trivia

3. Situational instructions
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4. Situational question technique
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Question ID : 99836742363

Q.17 Which of the following colours is assigned to focuses on feelings, intuition, emotion
according to ‘Six Thinking Hats’?

Ans 1. Yellow
2. Blue
3. White

4. Red

Question ID : 99836742356

Q.18 Which of the following is NOT one of the steps involved in decision making process?

Ans 1. change the desired outcome
2. Make decision or choose an alternative
3. research and identify options

4. evaluate results

Question ID : 99836742359

Q.19 is a basic unit of any community and society which acts as joining institution
between individual and society.

Ans 1. Family
2. Polity
3. Economy

4. Religion

Question ID : 99836742365

Q.20 Tish st ¥ rgaR Frafifla & | B9 arad 22

1. RR1&r St UTSUqwaeh! BT SUEITT HXd &, d MieTwar yer T8l F3d &
II. ITSUYRA® afe Rign & are= & Fu A IuAhT &t STt ], O Rreror v ge yerE Fd @

Ans 1AM RSN
2. %ad Il
3. %ad |
4. 139111 AT

Question ID : 99836742372

Section : Discipline2

Q.1 Which of the following can be considered as the positive features of multilingualism in
India?

I. It encourages the acceptance of many languages in Indian communities

Il. Multilingualism tends to influence a person towards only “Hindi”

lll. It encourages children to avoid various different regional languages and focus on
English
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Ans 1. 1and Nl
2. 1land Il
3. Only Il

4. Only |

Question ID : 99836742392

Q.2 Which of the following statements regarding motivation is correct?
I. Extrinsic motivation refers to the performance of an activity in order to attain an
outcome and comes from outside of the individual.

Il. Intrinsic motivation refers to motivation that is driven by an interest or enjoyment in
the task itself and exists within individual.

Ans 1. Only Il
2.0nly |
3. Neither | nor Il

4. Both land Il

Question ID : 99836742376

Q3 e d A o5 TR 3T 98 22

1. T Rreq-wer SAfRT il uer Har har gl
II. TP RIeu-Fer SfRTH Te-THP a1 USH $al Jodl gl

Ans 1. 13T 11 g
2. %ad Il
3. %ad |
4. ARAGN

Question ID : 99836742375

Q.4 What is your role as a teacher to facilitate meaning making learning?
l. You need to create a congenial environment in the classroom and school.

Il. You should record each student’s perception of the issue on the blackboard so that
all the statements are visible to all students.

Ans 1. Only II
2.Only |
3. Both land Il

4. Neither | nor Il

Question ID : 99836742379

Q.5 Who introduced Heuristic method for teaching science?

Ans 1. Prof. Henry Edward Armstrong
2. Ballord
3. Dr. William Head Kilpatrick

4. John Alford Stevenson

Question ID : 99836742384
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Q.6 Which of the following guidelines must a teacher follow for using Cooperative learning
method in the classroom?

I. Groups’ composition should be heterogeneous by mixing students considering their
academic achievement, sex and race

Il. Grade individual students’s contributions

lll. Collaborative social skills must be taught, modelled and reinforced regularly

Ans 1. lland Il
2. Only Il
3.land Il
4.1, Iland Il

GET IT ON

Google Play

Question ID : 99836742387

Q.7 Which of the following statement regarding Observational learning is correct?
I. It is a key learning method for children when acquiring basic tasks such as language
and cultural norms.

Il. In Observational learning, students think and judge and learn not only how to do
certain things but also what the consequences of their action are likely to be.

Ans 1. Both I and Il
2. Neither | nor Il
3. Only Il

4. Only |

Question ID : 99836742377

Q.8 According to the constitution of India

Ans 1. Hindi written in Devnagri script is the official language of all the states of India
2. Hindi is the national language of India
3. Hindi written in Devnagri script is the official language of India

4. English is the national language of India

Question ID : 99836742393

Q.9 Which of the following is/are elements of a game in "Play-way method" of teaching?

I. Cooperation and Collaboration
Il. Intrinsic Motivation

lll. Working without fear

IV. Self — imposed discipline

Ans 1.1 1, Nand IV
2.1, land IV
3.1, llland IV
4.1, Iland I

Question ID : 99836742383

Q.10 When a teacher enters into activity based classroom, which of the following aspects
convinces the teacher that the activity is going on properly?

I. Children are totally involved in doing work without being distracted by the teacher’s
presence

II. If students are asked about what they are doing they could clearly state the
objectives and cause of doing that activity
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Ans 1. Both I and Il
2.0nly |
3. Only Il

4. Neither | nor Il
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Question ID : 99836742388

Q.11 Who is credited with originating Discovery Learning?

Ans 1. Paulo Friere
2. E.L. Thorndike
3. lvan Pavlov

4. Jerome Bruner

Question ID : 99836742378

Q.12 Which of the following is/are the features of group learning approach in teaching-
learning process?

l. Variety of ideas can be generated through brainstorming in the groups
Il. Wide range of skills can be acquired through sharing knowledge and experience
lll. Participation increases commitment of the students to the activity

2. Surface area of a cuboid
3. Diagonal of a cuboid

4. Lateral surface area of a cube

Ans 1. lland Il

2. land Il

3. land lll

4.1, 1land Il

Question ID : 99836742389
Q.13 is the measure of space occupied by the body and it is the product of length,
breadth and height.

Ans 1. Volume of a cuboid

Question ID : 99836742394

Q.14 According to Kolb’s model, in learning style, students prefer readings,
lectures, exploring analytical models and having time to think things through.

Ans 1. assimilating
2. converging
3. accomodating

4. diverging

Question ID : 99836742385

Q.15 According to Weimer, what is the role of a teacher in learning centred teaching?

I. Creating an environment that fosters students’ learning
Il. Creating an environment that motivates students to accept responsibility for
learning
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Ans 1. Only Il
2. Neither I nor Il
3. Both land Il

4.0nly|

Question ID : 99836742386

Q.16 What may be the reason behind you choosing teacher centred approach of teaching
students in the classroom?

I. When the size of classroom is large with a large number of students, it is the only
feasible method of teaching

Il. There are quite a large number of new, unfamiliar or abstract concepts for the
learner which cannot be learnt easily when left to the students themselves

Ans 1. Both land Il
2. Neither I nor Il
3. Only Il
4. Only |

Question ID : 99836742381

Q17 9% TS | GEd|

I. 9 T S € <) TS HTOT Sl @
I1. TR HIRUT & e Ierifa® HI9oT 39 ard &hT
111, 3 TRT i) SRt HTST ) TP & &

Ans 1.0, 19T
2.1t
3.1

4.1a4rin

Question ID : 99836742391

Q.18 provides a comprehensive picture of cognitive development from birth to the
age of 14 or 15 years when cognitive development attains the peak.

Ans 1. Pavlov Theory
2. Piaget’s Theory
3. B. F. Skinner Theory

4. Bandura Theory

Question ID : 99836742380

Q.19 Which of the following statement regarding constructivist approach for teaching-
learning process is/are correct?

I. Students work primarily in groups where learning and teaching are interactive and

dynamic
Il. Activities are based on debate, intellectual participation and drawing conclusion.

Ans 1. Neither | nor Il
2.Only lI
3. Both land Il

4. Only |
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Question ID : 99836742382

Q.20 Which of the following teaching aid is not a visual aid?

Ans 1. Slides
2. Films
3. Charts

4. Black board

Question ID : 99836742390

Section : Discipline3

Q.1 If we have to find the place value of any digit present at the tens place of a number,
then by which number we have to multiply this digit?

Ans 1.1
2.10
3.100
4.1000
Question ID : 99836742398
Q.2 is equal to the area of top and bottom surfaces + area of left and right surfaces

+ area of front and back surfaces.

Ans 1. Surface area of a cuboid
2. Diagonal of a cube
3. Volume of a cuboid

4. Volume of a cube

Question ID : 99836742395

Q.3 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

To let the cat out the bag

Ans 1. hand over to the police
2. to reveal a secret
3. come to an end

4. write as fully as possible

Question ID : 99836742409

Q.4 How many lines of symmetry does a rectangle have?
Ans 1.0

2.2
3.3

4.1
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Question ID : 99836742401

Q.5 Choose the word that can substitute the given sentence.

Killing of people at large

Ans 1. embalm
2. soliloquy
3. manifesto

4. genocide

Question ID : 99836742408

Q.6 Choose the word that is opposite in meaning to the given word.

Amend

Ans 1. suppress
2. worsen
3. prevent

4. deep

Question ID : 99836742406

Q.7 If L and M are natural or whole numbers, then L x M is also a natural or whole number.
The above statement indicates which property of multiplication?

Ans 1. Distributive property of multiplication over addition.
2. Commutative property
3. Identity of multiplication

4. Closure property

Question ID : 99836742397

Q.8 Choose the word that is opposite in meaning to the given word.

Prosperity

Ans 1. durable
2. humble
3. adversity

4. shocked

Question ID : 99836742405

Q.9 TR qYT PR $I Aeg A FafEa & @ o @ surfirdta snepfa a1 o godt 82

1. o g wiur @1 fguers
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Ans RTIGUIT
2.1aurll
3.yt
4. Had il
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Question ID : 99836742400

Q.10 g‘gw%samanw-mmﬁmq\w’mm%ﬁammﬁﬁﬁmwanwﬁa
?

1. W-UHTISTRAT Fegi W fafe egval @ ywifaa g9 €
I1. T BT Ha) YU S TRATID TSR &

Ans 1. Had |
2.9dN3RAG
3. 1T Il gt

4. %9q I

Question ID : 99836742414

Q.11 Who was the father of Modern Learning Theory?

Ans 1. Ivan Petrovich Pavilov
2. John B. Watson
3. Lev Vygotsky

4. Jean Piaget

Question ID : 99836742412

Q.12 Find the part of the given sentence that has an error in it. If there is no error, choose
‘No error’.

It was exciting (1)/ to see the snake dancing (2)/ to the tune of the flute (3)/ No error (4)
Ans 1. It was exciting

2. to see the snake dancing

3. No error

4. to the tune of the flute

Question ID : 99836742404

Q.13 T T e fRpR a1 e Rigiaeri & fawfi o wed weayul 81 98 9e7
Frafafaa & 3 fFa TR 2

. T & ol ade
Il. UAER UREd BT 1Y

Ans 1.AA SRS
2. %ad i
3. 131 gl
4. %ad |

Question ID : 99836742413

Q.14 Which of the following is/are the basic axioms of geometry?

I. There exists only one plane containing three points not lying in a line
Il. Through two different points one and only one straight line can be drawn

Ans 1. Neither | nor Il

2.0nly |
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3.Both land Il

4. Only Il
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Question ID : 99836742399

Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.

Plenty of information is available the subject.
Ans 1.0n

2.1in
3. of

4. to

Question ID : 99836742411

Q.16 Fractions with equal denominators are known as

Ans 1. Unit fractions
2. Duplicate fractions
3. Equivalent fractions

4. Like fractions

Question ID : 99836742403

Q.17 In the following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.

Born with a silver spoon in one’s mouth

Ans 1. selfish secret purpose
2. born in a rich family
3. imagine impossible things

4. In a state of disorder

Question ID : 99836742410

Q.18 famfafaa # | fera fRufa A, ufa=a & sy &1 Juai 6 fFar sirar 82
Ans 1_@13%%%%%9’%%%@13%%%

2. TMH X% B 31Ufd 1Y T TeT BT X%
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Question ID : 99836742396

Q.19 g# ufig T@=mait et Iim + ts B sitga w94 fFafafad & § #1 ar fraw ang sa 82

Ans 1. (Is + tm)/st
2. (Is + tm)/ms
3. (Is + tm)/ml

4. (Im + tm)/ms
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Question ID : 99836742402

Q.20 Choose the word that means the same as the given word.
Huge
Ans 1. minute
2. free
3. gigantic

4. humane

Question ID : 99836742407

Section : Discipline4

Q1 fofafEd # @ $19 F@ fdva 81 s F sreamus ¥ srifda T8 22
Ans 1. 33T ASfBAT

2. gy
3. YdaH

4. 3rIReT

Question ID : 99836742422

Q2 frafifed & & w1 qafaRor s HT arRT TE 82
Ans 1. TIeRUT & 3(gel 31T YT AR I SHTHIGU BRAT

2. foffa o & fo THRIAS Ae@! &1 faem™ SRl
3. W& AT B ggrar
4. TOTaRUl &1 ol H GUR & oY YHRIAS IUT $PRIfhT a1et ead HRAT

Question ID : 99836742419

F HIOH | UGd B TS B2
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. ¥rnfere

Ans 1.AA RSN
2. %9d |
3.1 a1l gt
4. %9d Il

Q3 Fufafed & @ o149 @ AR 1 wiplae SR & Mihe fovar a3 <t s ©igs

Question ID : 99836742430

Q.4 What is included in stage 1 of productive computer session?

l. Pre-teach vocabulary and structures.
Il. Encourage pupils to focus on the topic.

Ans 1. Neither I nor Il

2. Both land Il
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Question ID : 99836742431

Q.5 Tgfaror srea=T & SrRATT quT fRiaror &1 gieqn # fFaferfad # @ @19 a1 et  do-iie”
T ATH el 872
Ans 1. TS SATTID FHY YT T&T U B P TITE B HH Bl &

2. TIoFT R oY I8 ad el § & a8 3o Tea) I i R 8
3. TS S & I BT SR THSH H Heg Bl §
4. TS fR18fb P g e BRATBRA & S ST 96T P 3R IaAf b1 ®

Question ID : 99836742417

Q.6 fwfafEd & @ $19 w1 Suarh uger 93 & weol # wdl gt 82

1. faeniRfa @ wrar Haeh qur Yheur & Hath 9UR ST 9%01 2 & 3idvid dT gl
II. I P D) PR I & STB! ST HIAT TUT 2 & e e &

Ans 1AM ISR
2. %ad i
3. 13T 1 gHT
4. 5Hd |

Question ID : 99836742433

Q7 frq Wide & 98 T8 & IgHH B ST AT A2
Ans 1. HTHR]

2. B B dds

3. foaRi &1 =i

4. TsgTaat 3R WA 3ef

Question ID : 99836742423

Q.8 Provide opportunities for pupils to check their own work either individually or in pairs
is termed as

Ans 1. planning learning
2. self-assessment
3. self-correction

4. selecting activities

Question ID : 99836742429

Q.9 Which of the following is NOT a teaching - learning method in EVS?
Ans 1. Project Method

2. Field Visit
3. Observation

4. Scientific Method
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Question ID : 99836742418

Q.10 Which of the following speaking activities is used for free communication?

I. Retelling a story
Il. Reading silently

Ans 1. Only Il
2. Neither I nor Il
3. Both land I

4.0nly|

Question ID : 99836742427

Q.11 A TR & 9T TR R AGT & Siala &1 3mar 22

1. 9ut & fore R saew
I1. 3= faenfiaY &Y IwR 39 F o wRa vy foraan

Ans rAdRAR
2. %ad Il
3. Pad |
4,131 11 AT

Question ID : 99836742428

Q.12 3 faenfat & W1y aTeRd 99 SR U Y@ $ WA TE sAvERE AT
B gy 21

Ans 1. T 34
2. @H
3. Reg,
4. 35

Question ID : 99836742424

Q.13 yyfaRur 3eaa WR g BT Tha #34 P forg Ruid »18 A Fafaf@a d ¥ s wusg
ST oI U1 272

1. 31 AN P U T § S WIS g1 § Hag Hd 8 1 9 Agem, fHam anfg)
II. ¥ TR H T8 & forg 7wy &1 srazgesdr $1 ugar 311
1. fafr @y uerf Ut Tiwr & wewa &t affpd HeAT

Ans 1. 113 11 Gt
2.1 a7 1l GIHT

3.1, 11T Il
4.1 94T 1 ST

Question ID : 99836742420

Q.14 What falls under ‘writing at text-level’ writing activity?

l. Posters
Il. Poems

Ans 1. Neither I nor II

2.Only Il
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Question ID : 99836742434

Q.15 ygfaRor sreqgeT § Sradier-1 fAft 1 IuahT w31 & fore FRuferf@a & @ 19 w1 Iarevr 82
Ans 1. S & yafaRoT srerg H faft fawal R eyt ardl & St A & fore s
2. e ¥ R gR1 g M foredt ot fawa R S @ 959 A & fow wgn
3. B! D [Tl ufdrat o1 faqiipd B quT 39! JIest faRyars! &I fera & g
el
4. BT Y GTEROT YOI Bt JHWT & 97 IR uRRaieHmd §9H & forg dgn

Question ID : 99836742416

Q.16 =i & S B UeRRid Ha TWa TP Riere Y fob aral &) e & wa= aifge?

1. 0 & HIH | S B ST a1 GHGg BT
II. A BT ITAATA TP IHUTSS & =4 H AT

Ans 1. %ad |
2. %ad Il
3. 13T I gt
4.FAISRAGN

Question ID : 99836742432

Q.17 Hgrt-SmuTRa uret # siaraii A vy Y@ BT 741 BRI &1 Tebell 872

1. farenfRiaY &t wwer 3R Siftmw 1 wira w11
I1. frenfiaY & fp<it Fer a1 afta & R # T=A 3R 3=t ufafshar ooad &4 & forw
wegTed ST

Ans 1. %ad Il
2. 13111 gt
3. %ad |
4. ARAGN

Question ID : 99836742425

Q.18 . TS SIS YT TH SIS BT TH 9371 ghsl & o o iR Riusstas wives a1 R s=man
Eicikd

Ans 1. YT
PRCERT]
3. A
VRN CACKI SIS

Question ID : 99836742421

Q.19 How can a teacher develop ‘students’ listening skills?

I. By giving them confidence
Il. By setting a specific listening task

Ans
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1. Only Il
2.0nly |
3. Both land Il

4. Neither | nor Il

Question ID : 99836742426

Q.20 fAgferfEa # A frae warfad frar & @ 3 3rm Wad & JagR # HeRd 81iid 31 &
1Y JUHIUT 1T &2
Ans 1. TreRe T
2. 3fHE ST
3. S @

4. TANEDT

Question ID : 99836742415

Section : Discipline5

Q1 Fufafea & & o1 a1 ofifde wu & 3 S, gof sner 91 ufiiefa a1 uRexa w1 us afsa @
Gham%?ﬁvwﬁmnwﬂma?@zﬁ%m%ﬁﬁmmaﬁ,m%ﬂﬁmaﬁ
gfar g2

Ans 1. Xferam
2. gt

3. Rreuepfa
4. feEmact

Question ID : 99836742439

Q.2 T 9gd favga ok ke e 3 Rred s Wiem & ufvomw, Rieror-sifrm
aﬁwﬁ;ﬁﬁﬁwﬁﬁfﬁﬁﬁ;ﬂaﬁ%wﬂvﬁ%mm%mamﬁmm
e 1

Ans 1. UTS AT

2. qIf¥e ST
3. gfe gie

4. UaNTg T

Question ID : 99836742450

Q3 ;mﬁgﬁmﬁﬁaﬁﬁaﬁﬁﬁqmmwm%wﬁmﬂﬁmﬁﬁmﬁaﬁ
UPR 82

(I (2 ) o
I1. grRofte T = e
1N, waTgt (vl A

IV. TSI 1
V. IR H a1
Ans RNINkAY

2.1 1L Nt v

3.1 nadrin
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Question ID : 99836742440

Q.4 fAmfafad # @ S 91 JeFifae A S gug@ § GHIfore afae gRT /Y= T[T
Y Iury g 82
Ans 1. T faTH 1 T IE=a, A1 a1 ufehan 39 wrf & = B g 3
2. Upfa ¥ oifies faavunas
3. Fcemars qur aMds el | 3/ qu & IudAis & I
4. IS B U Tfafafe or wrifafe o & w0 & o

Question ID : 99836742437

Q.5 THIfore fag & fRreor W AR Bied g (2006) & R FAuferf@d § @ s19 9
I WIS WR TR GHIRE 39 $) UgH o1 3834 2182

1. Ay oo # Rrenfial @) 39S wd F &7, I YT W F AT B 3R A ST
I1. AT 9T ISTae ST & H1d a1 Tfaeherdr iR 3 &1 ufsear 3 Ruandf &1

=g S
1. faenfiat & da dreaites ariear & qoi & e e s
Ans 1.0, 10aur
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Question ID : 99836742438

Q6 g & IR F GeaiP $I a1 HATed H¥d 9w, Fafafea d | f6= ot o g8 e
@A A13Y?

I. T BT e Hd THY a1 WUTed S & ld FTEId 82
I1. g1 e it @ Fufea ot o gt 82
1. fra YR Y o Fufed i 9 @ifge?

Ans 1. 1ayr
2.1, nauri
3. 1aurlil
4. %aq i

Question ID : 99836742446

Q7 BYsit & AAS Fafw & T # fFaferfEa & @ &9 1 $u= 98 82
Ans 1. fE T By $1 & YSIE geR YW & i7a Yorrsit & Faim g auT 3 g
Tfeferd I waiTem &, @ <Al Piye gafem §
2. I Ue PAYS 1 ol T1 T Yol gk FIYS & HHRT: FHUT quT W Yo & qard
g, @ T g By o §
3. I T FyS B i Yot g By o1 T Yemait & wafmem §, @ St By
Tatmy §
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YOI AT §, Y ST Py wafmem §

Question ID : 99836742444
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Qs T A1 I 1 HfHd a1 ¢ ot BTl D T Riarr, fvg ik s & & &
o oo w3 A Aeg FRAT R

Ans 1. AHTHSD I
2. JuIRe I
3. UfehaTeTes JH
4. Bereifed I

Question ID : 99836742452

Q.9 5 Rigror ¥ g U ¥ aR § FrufafRa § @ o1 v oy 98 82

1. Rreror-srftrme wftrar @t off e @ Renfia gr1 e fear srar @
II. ATYP ST THA B & e faenial ¥ warer gaan

Ans 1. 5ad |
2. %ad Il
3.AdNSRAGN
4,131 11 IR

Question ID : 99836742448

Q.10 g FIRE F aR A v g0y Rigre FHafafag o @ w19 @ afafaft  afefafat st
P ¢ gbar 82

1. Rrgre faenfiat & amfrs wR fafie = &1 gar @ & e 4@ aed 31

I1. 181 ST D1 3T 7T TR & THM P UgIH $IA & 1T g ThdT @ aUT I fpa
WY S R F g # g& B 1T A F 1T HE wwar 31

. Rrere faenfial @) amfs & v @ fewmsh 9 uge™ o313 & o @8 godr gl

Ans 1. %ad |
2. 11 9T 11 &Y
3. 19Ut eqt

4.1 ATl

Question ID : 99836742436

Q.1 fafafaa & 3 frad sgepurgurd & fHefua fear mar g2

1. afe us safdy ve AR &1 36 &7 & 591 9 an 8, @ 3 fdd g Slar Fi (36/3) T
12 A T aed g1

11, afg y fpaft ) ver Y 1fd & 7o arelt g oR 2 i F g o1 v T A ag et @,
at a5 2z foreit &t gt Y 2y fpedider &t wfa & w9g o aa S|

Ans 1. 134111 At
2.9 RAEN
3. %ad i
4. bad |

Question ID : 99836742443

Q.12 1000 FUY BT TH IR W 10% B! AMYF &3 A 2 Tl BT Ah i ATl HT GRTT?
Ans 1. 220 I

2.200 3qd
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Question ID : 99836742442

Q.13 Pafif@d & @ S A1 ba--SUNH ST TH T8 T8 22

Ans 1. TARTHS — AfsHmd Aled TR YR

2. gUNTTHS — UTedehH I Gafdd 3fidad ufhan
3. URUR - BT & 3ffha & Sy Uidehdl & &0 & @7 91l §
4. URUR — Sficher Ufehd1 & IR H Th

Question ID : 99836742454

Q.14 fagfiafaa # | e =Rur &1 ureq 7 Uearactt &) I H1 F AT ap-e! &1 T Ha
Ty a5 " 82

I. ST Tl A | TP A Iu& ol 3t g=ifa gU Wsg o1 uvgd B3
II. IFE HIE T eg BT AT §, A I T g B S 94T ATSd & ¥ § SN
& forg g, afe wet g

Ans 1. bad Il
2. 13T Il &1
3. Pad |
4.FAISRASN

Question ID : 99836742435

Q.15 faprasha 32 # PRB| b PRUI T=| &) f[arerd A e fdan wimar 81

1. JHIfSTR
1. 3fde

Ans 1. %bad Il
2. 1311l gt
3. Pad |
4.9d0 dRAEN

Question ID : 99836742453

Q.16 Ifg TP gu $T aTe 21 A, 3, 7t g9 ot aRfY | FRR2
Ans 1. 132 9.HL.

2. 66 3.1
3.128 T,
4. 264 9.

Question ID : 99836742441

Q.17 ffafea & @ o= @1/ e e & g @ @i o1 3w w1 3t dm e 82

I. Y &AdT 9T B1E! § AR 8 Pl § Fife 3 5 Jay &t @S T8l s aod 2|
I1. T 3R 3T HaTeAT & Houf # e adter
Ans 1.9aeRAg
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Question ID : 99836742449

Q.18 Fgfifad e dary=i § § S A1 fAeTerd R R Iy giar 82

. RaeTad
I1. TERTRITET
. 3=
IV. @ BT 3G
Ans 11 1N FAT IV
2.1, 1 a4t
31,00, 11 FAT IV
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Question ID : 99836742451

Q.19 RIE TT 3ENE HH H Faf R fPA TR W PSS SITAA A Ppedrdi gl
Ans 1. AfereT

2. fadlid-l BT OB
ACRRED
4.7

Question ID : 99836742445

Q.20 fRrerur-ftrr uftear # fagm Rreror & fAmers oo faft & an # Fafafea 79
B AR HYT TE 872

1. faemdf 1 dar wrsh fred @

II. 98 TH G URHaT 8 94T UToushd $1 ST | GRT b1 S |dn 8

111 FR1ere &1 S el el &) SHI TUT AUH! B3 Yo IGTexVI IR SIWENT HIP
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Ans 1. 19Tl
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Question ID : 99836742447
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